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Note : )  Auemptiotal five questions out of cight.
T NS H | qig ue ga HQ
i) [ncascof any doubt ordispute, the English version question
should be treated as final.
farddt oft woR & weg v fae & Ry § sEeh W &
weT @l AW wEn s
1. a) Differcntiate between mass density and weight density. 3
S, B el YR B § 3fa e i
b) Why water is considered as an ideal liquid. 3
S @1 eyl gg &gl 9 W 82
¢) Acubeofside I.5miscompletely filled with mercury. Find out
the weight of mereury in the cube. 6
1.5 4. o are e B AR ¥ o e o w1 eF F o O
@1 R S dfgr
d)  Define viscosity, Dynamic viscosity and Kinematic viscosity
giving units of each. Describe Newion's law of viscosity and its
equation. 8
AT, T LA ARl UL Wy ogqperary ) qReman SaR 0T
T TR YT & W B eron a7 a7 s R
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Differentiate between centi® of gravity and centre of pressure. 3

e 5, e 8 5 F SR Te Hiftrg)

Why centre of pressure of a immersed surface lies always below
the centre of gravity. ' 3
et 1 e 1 T v, BT S T e & A 7 B
2?

Draw pressure diagram showing variation of pressure [or 2
circular plate immersed in a static liquid. 6

) Horizontally
i)  Vertcally

et fRR g & oof vy & gl quoR wie @ frfred
Rl & Rl T@ R e @il

e dfe 2

jl—) ﬁ? TRl i

A 1.5m wide rectangular plate is verticall y immersed in water so
that Ieast and greatest depths of horizontal edges of plate from

the water surface are 2m and 3m respectively. Find the total
pressure and position of centre of pressure. 3

1.5 . 9 smaer < T ¥ gear g e

DifTerentiate between Almospheric
pressure.

argrEeta S T i g F SRR i i
Why piczomelerisnot ysed for measuring very high pressupe? 3

St S TR A 3 P diier 31 S
1 AT P T v

pressure and Bauge
3

y . Contd.....
http://www.rgpvonline.com

woodurjuoadSr mmmrdiy



wod auljuoadSr mmm/dny

3.

http://www.rgpvonline.com
13

I describe Bourdon's pressure

¢)  With the help of a neat skelc p
ouuge.
wmﬁaﬁwﬁmﬁmﬂﬁwmﬁmr

n to atmosphere and

)

Right limb of a U-tube manometer is opento _
leftlimb is connected toq Pipﬂ in which waler 15 flowing. In left

limb the mercury leve! j5 5gmm below the centre of the pipe. if
pressure at the centre of the pipe is 98. 1 kN/m? (Vacuum), what
will be the manometer reading? 8

T U-S #TIeR i qjaf o 0 €9 9 81 2 e qieft e

TGS ¥ Gl B g e F aF 98 3@ §) qi o F gR

YA G & T & 500 o, 1 eV W 21 AR 2w F deg

;ﬂm 98.1 b=y /5. (fafa) 3 @ dnfier @ gromies @
?

a) Differcntiatebetwceninminar flow and turbulent fTow. 3
TR WaTg Gen feEy Nag F ok FTE dif,
b) Briefly describe various types of energies present in liquid
flow, 3
gamﬁaw@mﬁﬁﬁmﬁmﬁsafﬁﬁﬂﬁmﬁaﬁiﬁﬁm
¢)  Whatis flow net? What are its different uses. 6
TR WieT @ar £ 7 3e [AfTE S aar g7

d) Give Bemoulli's theorem ils assumptions and limitations. What
are various applications of Bernoulli's theorem. 8
gt @ piy, gudht e qer Wad aargd A
i i PR R ST WE-aT ¥ §

) Differentiate between sub-Chitiea] flow and super-critical flow in
chanmnel. 3
e & B AR ST TR S cafenifers e ¥ afeR e

Hifal
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What is Froude's number? wi significance? 3
PSE den am ¢ FE@ a0 8 2?

What is most economical seCO0? Give conditions for mog
economical rectangular and trapezoidal section Iﬁ

SHfrea fircrerll TRESR T4 e 2 sirareR AT AIHAIHR
aRes & sftrean el 8% & RRY o 37
A rectangular channel has Widith of 4.0m and depth of 3.0m.

Height of water flowing through the channel is 2.0m, Bed slope
of the channel is 1:1500. Calculate the discharge through the

channel by: g8 '

)  Chezy's formula, givenC=55
i)  Manning's formula givenn=0,021

Rt anaTer Bver &Y TISE 4.0, qen I5aré 3.0 5. 31
A Henfa @9 arer ot B g 2.0 . 81 e & a9 @ e
1:1500 &1 A7 ¥ vy @ a1 Rt B e Prefiie
T o By http://www.rgpvonline.com

D Wl @ g, Rargc=s5
D W g, far 0= 0,021

) Differentiate between pipes inseries and pipes inparallel. 3

b) Why surge tank is used in a PiPEline?

mﬁ?*ﬂﬁmwaﬂwﬂm R —

. 3
9T @S A St o awa o 20

- ¢ Describe coefficient of contraction, coefficient of velocity and

cocfficient of discharge and establish relationship between them.

6
AP TP, I ey e Rraef 1o @ IR g
TPl & d1 W vl Hifre)
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Two reservoirs are connected by a 400mm diameter, 500m long
horizontal pipeline through which discharge is taking place
@2001it's. considering all the losses, find the difference of water
level of the two reservoirs. Take £ = 0.01. 8
T wrenaEl @ 500 fft, &t @en 400 Frft. = aeh fRsh
8 are e gy o T 2, PR 200 /A R A
R & a1 &1 gl @) R N AR o g SN
VIETRT! % el & i o ofeR T BN R & £= 0,01

Diﬁﬂl‘t:ntiambemm rectangular Notch and Triangular Notch. 3
AP A4 Gt B 719 3 3R wE A

Why ogee profile of weiris preferred? 3
e @ ot s R @ @ e aa @ o 37
Arightangled V-Notchisdischarging water at the rate of 14.81it%s.

. Ifthehead of water ghaye the evest of the nowa is160mmn, calculate

the coefficient of discharge of the notch. 6
T e VA W 14,87 /A B R [ IR v Y
I AR @ @ o 160 firfl, @1 e & Resls 1o & moen
g

Top and bottom diameter of a vertical taper pipe 1.5m long is

150mm and 600mm respectively. If the pressure at the larger

and smaller end is 20m of water and 15m of water respectively.
Calculate discharge through pipe. 8

1.5 4. 54 & v 2w qreg ¥ o @1 @y 150 Rt gepr

el 1 2 600 Feft. 31 af a2 AR wem 20 e qen

:Iﬂmﬁ?%wm LSTﬁ-WﬁsWﬁﬁ’lqﬁq%ﬁﬂt&rm
|

Briefly describe manometic hepg of pump.

3
T & AARERE M P Ny i g i
b) Why air vessels are uscdhmﬁmmmng pump? 3
s 99 AT P i e omer 2
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Define turbine. Give classification of turbine, 6

zafe @) afeqfa S cafga P Tiaw Hifd)

With the help of a neat sketch, describe in detail the working of
centrifugal pump. - 8

=5 R dgw, awhs! Uy 6 srivowet @ far & o
Hifomi
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